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Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks. 

1. Define any five of the following : 5×2=10 

(a) Spoilage 

(b) Thaw rigor 

(c) Elastin 

(d) Actin 

(e) PUFA 

(f) Veal 
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2. Write a note on ‘Indian meat grading 

system’. What is ‘Lean’ ? 8+2=10 

3. What is ‘Tenderness of meat’ ? Write the 

factors affecting tenderness of meat. 5+5=10 

4. What is Myoglobin ? Write the factors 

affecting quantity of myoglobin in meat. 

What is ‘bloom’ of meat ? 2+4+4=10 

5. What do you mean by hot processing ? What 

is wholesomeness ? Write a note on eating 

quality of meat. What is DFD ? 3+2+3+2=10 

6. What is grading ? What is the importance of 

grading in meat ? Name the quality grades 

of Pork (as per USDA System). 2+3+5=10 

7. Write a note on WHC of meat. Describe 

methods of freezing of meat. 5+5=10 

8. What is Rigor Mortis ? Write on stages of 

rigor mortis. What is conditioning of meat ? 

2+5+3=10 
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ekal izkS|ksfxdh eas fMIyksek (Mh- ,e- Vh-) 

l=kar ijh{kk  

twu] 2025 

ch-ih-oh-vkbZ-&023 % rktk ekal izkS|ksfxdh 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- fuEufyf[kr esa ls fdUgha ik¡p dks ifjHkkf"kr dhft, % 

5×2=10 

(d) nw"k.k 

([k) fgeæo dkfBU; 

(x) bySfLVu 

(?k) ,fDVu 

(³) ih-;w-,Q-,- 

(p) xksoRl ekal 
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2- ^ekal ds Js.khdj.k dh Hkkjrh; iz.kkyh* ij fVIi.kh 

fyf[k,A ^pchZ jfgr ekal* D;k gS \ 8$2=10 

3- ^ekal dh e`nqrk* D;k gS \ ekal dh e`nqrk dks izHkkfor 

djus okys dkjd dkSu&ls gSa \ 5$5=10 

4- ^ek;ksXyksfcu* D;k gS \ ekal esa ek;ksXyksfcu dh ek=k dks 

izHkkfor djus okys dkjd dkSu&ls gSa \ ekal dk ^Cywe* 

D;k gS \   2$4$4=10 

5- rki izlaLdj.k ls D;k vfHkizk; gS \ laiw.kZrk D;k gS \ 

^ekal dh [kk| xq.koÙkk* ij fVIi.kh fyf[k,A  

Mh- ,Q- Mh- D;k gS \ 3$2$3$2=10 

6- Js.khdj.k D;k gS \ ekal esa Js.khdj.k dk D;k egRo  

gS \ ;w- ,l- Mh- ,- iz.kkyh ds vuqlkj lwvj dh xq.koÙkk 

Js.kh ds uke fyf[k,A 2$3$5=10 

7- ekal dh ty /kkj.k {kerk (MYC;w- ,p- lh-) ij fVIi.kh 

fyf[k,A ekal ds fgehdj.k dh fof/k;ksa dk o.kZu dhft,A  

5+5=10 

8- e`R;qt dkfBU; D;k gS \ e`R;qt dkfBU; dh fLFkfr;k¡ 

(izkoLFkk,¡) fyf[k,A ekal dk izkuqdwyu D;k gS \ 

2+5+3=10 

× × × × × 


